GREENWAY MODERN SCHOOL
SUMMER VACATION HOMEWORK (SESSION-2017-18)

CLASS IX
MATHS:-

1) Do the given assighments.
2) Make a project on
Pascal’s triangle (Roll no 1 —30)
Fibonacci number (Roll no 31 -59) h
ENGLISH:- ;
1. Prepare a project based on the novel “Gulliver’s Travel” by Jonathan surift.Heading to be included.
a) Introduction of the novel
b) Acknowledgment
c) Brief Summary
d) Character Sketches
e) Theme/Significance of the novel
2. Design a beautiful collage based on any one of the following authors:
Sudha Murthy
William D Ellis
Alexander Baron
P.G.Wodehouse
O.Henry
3, Work Book Lesson 1 & 2
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SCIENCE:- i) Complete the following lab practical in LAB RECORD REGISTER

a) To study the life cycle of mosquito
b) To study the temporary slide of onion

ii) Complete the worksheet of CH-8 (The fundamental unit of life) in H.W register.

iii) Revise Pre-mid term syllabus.

SOCIAL SCIENCE:- A> Work on the following Projects [Do any two]

(

1. Find five industries getting raw material from the forest and wildlife and make a project by explaining

their production process.[ in scrap file]
2. Collect pictures and reports from newspapers and magazines and make a project on —how the use of

chemical fertilizers can be harmful. r
3. Make a project on communication techniques during dlsaster [in scrap file]

B> Learnall the chapters done in class.
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CLAss-IX

ASSIGNMENT-COORDINATE GEOMETRY
Q1. Abscissa of all the points on the x-axisis: A)0 B) 1 C) 2 D) anynumber.
Q2.0rdinate of all the points on the x-axis is : AJ)O B) 1 C) -1 D) anynumber.

Q3. A point both of whose coordinates are negative will liein : A) I quadrant B) Il quadrant C) Il
quadrant D) IV quadrant.

Q4. Points (1,-1),, (2,-2), (4,5) , (-3,4) will liein : A) Il quadrant B) Ill quadrant C) IV quadrant
D) do not lie in the same quadrant.

Q5. If y-coordinate of a point is zero, then this point always liesin : A) | quadrant B) Il quadrant
C) onx-axis D) on y-axis

Q6. The points (-5,2), (2,-5) lieinthe : A) same quadrant B) Ilandlll quadrant, respectively. )]
Il and IV quadrants, respectively D) IV and Il quadrants, respectively .

Q7. If the perpendicular distance of a point P from the x-axis is 5 units and the foot of the
perpendicular lies on the negative direction of x-axis, then the point P has A) x coordinate = -5 units
B) y coordinate =5 only C) y coordinate=-5 only D} y coordinate = 5or-5.

Q8. On plotting the points 0(0,0),A(3,0),B(3,4),C(0,4) and joining OA,AB,BC and CO which of the
followinz figure is obtained : A) square B) rectangle C) trapezium D) rhombus.

Q9. If P(-1,1),Q(3,-4),R(1,-1),5(-2,-3) and T(-4,4) are plotted on the graph paper, then the point(s) in
the fourth quadrantare : A) PandT B) QandR C) OnlyS D) PandR.

Q10. If the coordinates of the two points are P(-2,3) and Q(-3,5) , then (abscissa of P)-(abscissa of Q)
is A) 5B 1 C -1 D) -2.

Q11. Abscissa of a point is positive in :  A) land Il quadrants B) Iand IV quadrant C) I quadrant
only D) llquadrantonly.

Q12. The points whose abscissa and ordinate have different signs will liein : A) | and Il quadrants B)
Il and lll quadrants C) Iand lll quadrants D) Iland |V quadrants.

Q13. The perpendicular distance of the point P(3,4) fromthey-axisis: A) 3 B) 4 C) 5 D) 7
Q14. Write whether the following statements are true or false ? Justify your answer.
A)Point(0,-2) lies on they-axis B) The perpendicular distance of the point (4,3) from the x-axis is 4.

Q15.A point lies on the y-axis at a distance of 2 units from the x-axis. Its coordinates are (2,0). Is this
statement true or false ?justify your answer.

Q16. Plot the following points and write the name of the figure obtained by joining them in
order.P(-3,2),Q(-7,-3),R(6,-3),5(2,2) -

Q17. Plot the following points and check whether they are collinear or not: A) (1,3),(-1,-1),(-2,-3)
B) (1:1)1(21'3):('1:'2)- C) (0,0),(2,2),(5,5) .

Q18. Plot the following points by using the scale 1cm=0.25 units : P(1.25,-0.5),
Q(0.25,1),R(1.5,1.5) , S$(-1.75,-0.25) .

Q189. Find the coordinates of the point : A) which lies on x-axis and y-axis both  B) whose
ordinate is -4 and which lies on y-axis. C) whose abscissa is 5 and which lies on x-axis.
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20.Thre i
Q e vertices of a rectangle are (3,2), (-4,2) ,(-4,5) . Plot these points and find the coordinates
of the fourth vertex.

Q21. Points A(5,3) , B(-2,3) and D(5,-4) are the three vertices of a square ABCD.Plot these points on a
graph paper and hence find the coordinates of the vertex C.

Q22. Write the coordinates of the vertices of a rectangle whose length and breadth are 5 units and 3

units respectively,one vertex at the origin, the longer side lies on the x-axis and one of the vertices
lies in the third quadrant.

Q23. Plot the points P(1,0), Q(4,0) and 5(1,3). Find the coordinates of the point R such that PQRS is a
square.

Q24. Plot the points A(1,-1) and B(4,5) : A)Draw a line segment joining these points . Write the
coordinates of a point on this line segment between the points Aand B. B) Extend this line
segment and write the coordinate of a point on this line which lies outside the line segment AB.
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ASSIGNMENT-NUMBER SYSTEM

e
Q1. Which of the following i« not equal to ‘(’)l ’

W ET e __‘., o Q)" o @n
BXl

Q2. The decimal expansion of the number v2 is A) afinite number B) 141421 C) non
terminating recurring D) non-terminating non recurring

Q3. A rational number between V2 and V3 (5 A) '/7',:‘/” B) '/2;/3 C) 1.5 D) 1.5
Q4. The value of 1.9in the form%,whercpandqam integers and q#0,is A) 76 B) :—’% C)2
D) .

9

Q5. Rationalise the denominator of ‘/,_1.\/"

Q6. After rationalising the denominator of ﬁ , what denominator we will get ?

Q7. What is the value of % ?

Q8. If V2 = 1.4142, then ’j_ isequalto A) 2.4142 B) 5.8282 C) 0.4142 D) 0.1718

1
Q9. V¥2%equals A) 275 B) 27¢ ) 28 D) 2°

Q10. The product VZ.VZ,'Y32equals A) V2 B)2 ¢) '¥Z D) %32
Qil.Valueof Y(B)Z is A B) 1 ) 9

12 < 12
Q12. Which of the followingisequaltox ? A) x7 —x7  B) ,’(x‘)lx C)

2 12 7

(Vx?)* D) x7 xxi,

Q13. State whether the following statements are true or false ? Justify your answer. A)

vz,
—-IS a
rational number.

B) There are infinitely many integers between any two integers. C) Number
of rational numbers between 15 and 18 is finite. D) There are numbers which cannot be written in

the form = = q# 0, p,q are both integers. E) The square of an irrational number is always rational

F) 73—:5 not a rational number as 12 and 3 are not integers, G) 731;5 wrritten in the form 2, g # 0
q
and so it is a rational number,

Q14. Let x and y be rational and irrational numbers, respectively, Is x+y necessarily an irrational
number, Give an example in support of your answer.

Q15. Let x be rational and be irrational, Is Xy necessarily irrational ? Justify your answer by an
example.Type equation here,
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Q16. For which of the variables XY,

zand u represent rational numbers and which irrational numbers
A) x*=5 B)y2=9 ) z2=004 p w =1,

Q17. Find three rational numbers between :
5

A) -land-2 B) 0.1and0.11 C)
2 and 2 D) Zand?l.
7 4 5

7

Q18. Insert a rational number and an irrational number between th
and 0.1 () % and %

0.0001 and 0.001

e following: A) 2and3 B) O
Dy 2 and > E) 0.15and 0.16 F) vZand v3 G) 2.357 and 3.121 H)
) 3.623623 and 0.484848 1) 6.375289 and 6.375738.

Q19. Locate V5,10, V13, VI7andv20 on the number line.

Q20. Express the following in the form g, where p and q are integers and q#0:A) 0.2 B)0.888...

C) 52 D) 0.003 E) 0.25 and F) 0.134 and G) 0.0032Z .

, V. 3-v5 _
Q20. Find the values of a and b in each of the following: A) ;Ii—\/: =a—-6V3 B) 3e20E
f. 19 - V2+3

7+V5  7-V5 _ 7
a‘Vb—EC) m=2-b\/6 D) Wg—mg—a-l-ll‘/Sb

192
“INT:
Q21.Ifa=2 ++/5, then find the value of a — % Also simplify :[((625) 2) ] .

Q22. Express 0.6 + 0.7 + 0.47 in the form g, where p and q are integers and q # 0.

P L 25 3V2
Q8. SimplY e —Tr s Tt

) 4 3
Q24.V2 = 1.414,V3 = 1.732, then find the value of W e o

1
Q25.Ifa = 3%/5, then find the value of a? + =

_VEE VB2

; 24 .2
Q26. Ifx = vz vy =5on ,then find the value of x? + y2.

Q27. Simplify :(256)—(4—%) .

1 2
Q28. Find the value of : = s+ 7+

1 .
(216)"3  (256)"% (243)°S
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CLASS-IX

INTRODUCTION TO EUCLID’S GEOMETRY

Q1. In the adjoining figure, i
,if 21 = £2, /3 = /4 and £2 = /4, then find th i
between Z1 and /3, using an Eucl'id’s axiom. ’ tnd the relation

b
D "
rte

(¢}

B

Q2. S'eeta and Qeeta have same weight of rice. If each of them losses by 5 kg of
rice how will the new weights of their rice be related? Use any Euclid's
axiom.

Q3. In the adjoining figure, you are given AB = CD. Prove that AC = BD.

/
o]
B

A

Value Based Question'

Q4. Asshown in the figure, three cities A, Band C arelocated in
border area. AB, BC and AC are three roads which join to
one another. To protect these cities from enemy countries
The,Government of India decided to build two air bases P P Q
and Q in such a way thatP and Q be mid-points of the roads,
AB and AC.

(i) If AB = AC, prove that AP = AQ.
(ii) What values are shown by the government?

3

Siid

4 |
. LINES AND ANGLES

e

QL. In figure, if AB|CD | EF, PQ|RS, ZRQD = 25° and ZCQP = 60°, then find

ZQRS.
/S |
_A R/ B

v
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Q2. In AABC (s‘ee adjoining figure), £B > £C, if AM is the bisector of ZBAC and AN L BC,

prove that ZMAN = 2 (4B - £0)
= A

. B Cc
N M B

Q3. In the given figure, AP and DP are the bisectors of two adjacent AR
angles ZA and £D of a quadrilateral ABCD, Prove that 22APD
= ZB + £C. :

Q4. In adjoining figure, the sides AB and AC of a triangle ABC are
produced to D and E respectively. The bisectors of two exterior
angles B and C intersect each other at a point O. Prove that

ZBOC =90° - %AA.

5. In the adjoining figure, if AOB is a straight line, OP bisects ZA0C and 0Q
bisects ZBOC, show that ZPOQ is a right angle.

<
3

Q6. Find x in degrees. ' = 4hH TUNTHE ourTT

Value Based Questions

Q7. Afarmer has atriangular field and a cow suffering from disease. He A P B
tied the cow at point R, other animals in the enclosures with angles 507,
x and y, shown in figure.
(i) IfAB || CD, ZAPQ = 50° and £PRD = 127*, find x and y.
(it) Write the values shown by the farmer, ca R D

Q8. A teacher gave her students old newspapers and asked them to
make triangles from it using paper folding with the given
specifications. In the figure, PQ (| RS, £ZPAB = 70°, ZACS = 100",

(i) Determine LABC, £BAC and £CAQ,
(i) What values have the teacher been trying to develop them in
her students?
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CLASS-IX

ASSIGNMENT-POLYNOMIALS

Q1. Find the zeroes of the polynomial 2x2 — 7x.

Q2 Show that (p — 1) is a factor of p1® + p® + p& —p* —p? — 1.

2 2 2
Q3.1f a,b,care all non-zero and a + b + ¢ = 0, prove that : — + P+l =3
bc " ac ab

-X 1\2
Q4. Expand (—2— +y+ Z) .
Q5.Factorise : x3 + 6x% 4+ 11x + 6.
Q6. Using a suitable identity, factorise : p3(q — )% + ¢3(r — p)® + (P — ©)°.
, . . N 1 1 1 1
Q7. Find the product. Using suitable identity : (x - ;) (x + ;) (x2 + ;3) (x"‘ + ;)-

Q8. Factorise : a'? + b2,

Q9.1fx +y +z=1,xy+yz +zx = —1 and xyz = —1, find the value of x* +y° + z3,
Q10. Find the value of a if x — a is a factor of x* — a®x +x + 2.

Q11.Find the product : (x + ¥ + 22)(x? + y® + 4z% — xy — 2yz — 22zx)

Q12.Find the value of 27x3 + 8y3,if 3x + 2y =20 and xy = 191.

Q13. Factorise : V7x2 + 9x + 27.

Q14.using factor theorem, factorise : x3—2x%2-5x+6.

QIS.Ifx +y + 2 = 0.prove x® +y* + z° = 3xyz, Hence factorise (p — q)° + (q - rd+
(r — p)? and also calculate the value of 133 + 153 — 283,

Q16.F actorise : 2v2a3 + 16v2b> + ¢ — 12abc.

Q17. Factorise : x& — y®.

Q18.If 2x + y = —5,prove that 8x3 + y* —30xy + 125 = 0.

Q19.1f p(x) = x3 — 4x? + x + 6, then show that p(3) = 0 and hence factorise p(x).

Q20.Factorise : (m + 2n)? + 101(m + 2n) + 100.
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